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Topic:- Child Development & Pedagogy (CDP)

1) Which of the following statement is true? / fFHafefaa A Y B I HYT T 8?2
1. Growth is only a mental process. / q@ Fad U AFRIS Ufehar g1
2. Heredity doesn’t affect on learning process. / 3fIaifRidar ifeErTH Ufhar &1 guTfad 8! x|

3. Development is only a quantitative process. / fapT Had T AETHS UlhaT B |

4. Learning is a process of behavioral changes. / 3T STagIR® TRadH! &t Ufdhar gl

Correct Answer :-

« Learning is a process of behavioral changes. / 31fORTH TGRS IR B! Uiehal gl

2) How many clinical scales were there in the original Minnesota Multiphasic

Personality Inventory (MMPI)? / §d fiRter ued it Rye ueinferd) sdedt (wauadians)
fraq Aeife ta= A2

1. Nine / Cll
2. Eleven / TORgE
3.Ten/ ¥

4, Twelve / dR8

Correct Answer :-

3) Which one is NOT the Psychological principle of teaching? / ﬁ?WWﬁT&WT Ca|
Ay fRrgid T8 82

1. Proceed from known to unknown. / x| JTd I SIITd Pl 3R dedl %I

2. Proceed from simple to difficult. /\_rﬁ TR Y B Bl 3R a—({(ﬂ%I



3. Proceed from complex to simple. /Gﬁﬁﬁﬁﬁwaﬁ GhTEIE_dT%I
4. Proceed from concrete to abstract. / Sl Y | & bl 3R aE_CIT%I

Correct Answer :-

e Proceed from complex to simple. /Gﬁaﬁﬁﬁwaﬁ GﬁTEIE_dT%I

4) Inclusive education is currently a strategy of education based on the based

approach. / THAN RigTadq@®  smeria e 0 & e = Riem ) ve o 21
1. Sympathy / FgTIHfd

2. Charity / §F

3. Apathy / ScRIIHdT

4. Rights / 3TUPR

Correct Answer :-

« Rights / STDR

5) Gender Schema theory was introduced by ./ foiT Tt (\_;k"R' EﬁTIT)
Rigia & gRTusga fearman o

1. Jean Piaget /i foarst
2. Kohlberg / ﬁ%ﬂ_@lﬁ

3. Erikson / Q'm:\‘:l:[
4. Sandra Bem / TSI CL|

Correct Answer :-

« Sandra Bem / ﬂT@TaT[

6) According to Vygotsky’s theory, the most suitable instruction to support social learning is

./ AT & g & AR, ATATRTS SIftRTH & Jad= w4 & fore wew Sugaa
frdw 2l
1. curriculum / UT&dshH

2. students work together on the task / DT S WR TUh Y Hh1H P % [

3. students’ individual work / 29I>I\I'$ OLIIFOTK‘I‘Id 0|’>I¢-Ir

4. traditional teaching / TRUR fRr&for

Correct Answer :-



« students work together on the task / ST IR W Uh Y HhTH I % [

7) What are tests that rely heavily on language based reasoning called? /

O UT&10T T HEATd & Sl HTST MR dhefad iR AR &3 82

1. Accuracy tests /CII?S{@EII giefor
2. Culture fair tests / G A D UI&UT

3. Verbal tests / ﬁﬁﬁ qﬁ&rﬂT
4. Nonverbal tests / b TRTeor

Correct Answer :-

e Verbal tests / AP TRieqor

8) What aspect of personality makes a child more likely to be outgoing? /

Hfer ¥ foa Teq & 7= & smaems (i) g1 $1 FHraeT 9 St 32
1. Extraversion / SgQadl

2. Introversion / ST

3. Socialisation / JHTSIHRUT

4. Neuroticism / HTQ%T%
Correct Answer :-

 Extraversion / Eﬂ%@@—cﬂ

9) Bandura’s 4 principles of social learning are: / o UfeRTH & Q?RT & 4 Rygia HUPR f
1. Metacognition, Attention, Engagement, Motivation/ ﬁ?:”m”@m:r, T, 9314, RO

2. Retention, Cognition, Attention, Motivation/ cri%rw, 3@'{%, T, RN

3. Attention, Retention, Reproduction, Motivation/ &1, EIﬁf‘EI'ITUT, ol RO

4. Attention, Engagement, Collaboration, Motivation/ ®T-, JgId, ﬂ%fﬁT[, TRUT

Correct Answer :-

 Attention, Retention, Reproduction, Motivation/ &I, EIﬁfﬂWUT, Uol--, UROT

10) Adolescences form their own image and integrate their own ideas as to how they wish to be

referred to, this is /%@?MWH%E‘%W%WWW%WE%W
T & 6 3 e ave wefifa g9 9red €, 7 weaman 3

1. Crisis / g&c



2. Ego identity / 38 UgdH
3. Ego ideal /3(§ 31X

4, Ego / 3§

Correct Answer :-
« Ego identity / 38 UgdH

11) At what age does the child learn to control the expression of emotions? / yrg-ref & siftreafad
ot frifaa o= T [ omg # draan 82

1. Adolescence / forRIRTaRIT
2. Birth to two years / ST H I a9y da&
3. Late childhood / U¥Y STedTdRT

4. Early childhood / URT¥eh STeara=T

Correct Answer :-
« Early childhood / URT¥eh STeama=T

12) Which of the following theories acts as a bridge between behavioral and cognitive learning

theories? / FrEfIfaa & A #14- 1 R aeR iR GamTe® Siftnm frgial & fla e ag
BT HTH HIdT 32

1. Humanistic theory / HEgdTarat (E’W) g

2. Cognitive development theory / JTHIHP famrg Rrgrd
3. Social learning theory / JTHTSID SHTTH R

4. Existential theory / 311Rxicd i1

Correct Answer :-

« Social learning theory / TS SHfERTH RigT

13) Which of these statements is true with regard to aptitude and competence? /37{&@ -1

HY I SR &1 & ey & 0 32
1. Aptitude is an inborn potential to do something. / P& F & o TGl U ST SHTaAT

(SPTIEHA) B
2. An aptitude is a developed knowledge. / g1 U fasmRid 9 gl
3. A competence is a part of an aptitude. / &HdT TUh I &1 U fRwa B

4. A competence is an inborn potential to do something. / P& PR & [T &HdT U STSITd SHTGHT

(@Tieran 3|



Correct Answer :-

 Aptitude is an inborn potential to do something. / P& A D ﬁfq gl LEASEEIGESICEI

(@rferman B

14) Who introduced the term L.Q. (Intelligence Quotient)? | fpaa an%aq @@ SUCTRIT) QG &I
gfarafea fosar?

1. Terman / <4

2. Galton / Tee

3. Binet / fomie

4. Guilford / FTeT®TS

Correct Answer :-

o Terman /THT

15) The psychologist who discovered that children’s perception of reality is not learned from adults

but is constructed is: / 98 ANAIA® ORI TdT AT {6 T P IRATIPdT B YR TATHI A
Ta1 W =it B, Afp= g3t fAwtor far wrar 8 3 €'

1. Jean Piaget / S oSt

2. BF Skinner / &I Uh PR

3. Amold Gesell / 3TeS Td

4. Howard Gardner / Epl?ll'lt%c Tﬂé:R'

Correct Answer :-

+ Jean Piaget / ST oSt

16) During which stage do children start reasoning? / T 3Ia¥IT H = T BT IRE Hd &2
1. Adolescence / [ RIRTaRIT
2. Late Childhood / 3R dTedTaRT

3. Infancy / BIRCIERS)

4. Early Childhood / Jd STeama=l

Correct Answer :-

e Late Childhood / 3<R dTcdTdRT



Teachers should take a/an rather than group perspectives when
considering diversity in the classroom. / HE&T A fafgear v foar &= TJHY,
el o1 Ig & R & Iora TH & =PI B &= TG
ElHY

1. Group factor / JHg PRD

2. Opinion / SffHFd
3. Student / B
4, Individual/mﬁ

Correct Answer :-

« Individual / SAfFITd

18) Which of the following is not an aspect of metacognition? / fafafaad a
T Fbad (ASTHRHIRM) HT TP Ugd ol 82

1. Altering consciousness/d=T H AT

2. Revising cognitive strategies/ITTHD U BT AN HRAT

3. Planning cognitive strategies / IITATHD Ut B YT ST

4. Monitoring cognitive strategies / IITATHD U @l AR AT

Correct Answer :-

 Altering consciousness/da- H ]

19) Which of the following is not true about the teaching process? / frrafefed
H Rreror uferar & IR A w1 9@ TE 82

1. Teaching is the process with a purpose to bring about learning. /QT&FUTW 3%33 & a1y
ST Pt Ui g |

2. Teaching does not sway the whole process of learning. /QT&I'UT?E[ &Wﬁ@mﬂﬁr
gl

3. Teaching does not need a formal set-up. /e & forg @Wgﬁuwﬁ 3IIHl ol
g

4. Teaching should be centred around student. / R1&0T BT & 3M9-UN digd gHT AUl

Correct Answer :-

« Teaching does not need a formal set-up. /ﬁT&WT%%TQ W@ﬁﬂﬁa’ﬁ Wq—ﬁﬁ
gl



20) Which of the following does not apply to the brainstorming process? /

fFrafafea 9 @ ®n faar faust ufeear & e arg =18 gl 82
1. Generation of unusual ideas. / SFHTI faaRT &1 goi-|
2. Criticism of ideas. / foaRT &t A

3. Associating different ideas to come up with a new one. / T & 1Y 3 & ford fafia faaRi &1
S|

4. Quantity is more important than quality. / J[UTdI Pl KL H AE 3fdew WE'@TIUf %I

Correct Answer :-

« Criticism of ideas. / faaRI &t STAR—ATI

21) According to Martin and Halverson, when young children observed gender inconsistent
behavior, they tend to have:

/ ATFEA 3R BRI & SR, 9d BIe Tl 1 ol & SRITd SAa8R $T aaldp- o,

1. A distortion of memory/ Fﬂﬁf Cdl ﬁ?ﬁ
2. An accurate memory / Y Idis Fﬂﬁ

3. A rejection of the behavior/ SIAER 1 &Wﬁ

4. An imitation of the behavior/ AdgIR ﬁ b ]

Correct Answer :-

A distortion of memory/ Fﬂﬁl il ﬁ?ﬁ

22) What problem do children with anorexia nervosa typically have? /@WT ECIGIE:

afra =t 3 AR «u &« s i@ 32
1. Problems with impulse control / T FA=01 & T1Y JH
2. Problems with body image RRR Ui & I1Yy JHHT

3. Reduced physical exercise / PH R AP ™
4. Excessive eating / AP HIoH BT

Correct Answer :-

» Problems with body image / YRR UfaHT & 1Y JHEmg

23) What is more likely to help a child remember a story by Tagore? / SR R TS Bl

P I1E TG | 9 B HEG DB D1 AfUP THIGAT 1 82

1. The moral of the story | FETI & Afde



2. The size of the story / BB BT HTHR
3. The font of the letters / 3{&R] &1 Bl

4. The colour of the title /‘\Tﬂ'% CIRU]

Correct Answer :-

« The moral of the story / B8 BT GIGED

24) Eliminating caffeine and sugar from diet before bedtime ensures - / 1 I Ugd 3MER 9§

S 3R T B T BT 59 G HIT 8:
1. Reduction in stress / d-1d § A

2. Good functions of muscles / ATIURTT & ésav W

3. Good sleep / 3! Hig

4. Good absorption of nutrients / UIN® dedl DT 3BT TN

Correct Answer :-

» Good sleep / 3T g

25) How information is typically stored in semantic memory? / 3{H MR W

e Wfa (REifee Ak & SeR 4 Wudid gidt 22
1. Networks/Tcaan|

2. Skills/ DI

3. Tasks /@1

4. Groups mﬂ@

Correct Answer :-

. Networks/ﬁ?a?b;f

26) CANCELLED

Which chart shows that the highest return of investment in education is maximum during the early

years? /ﬁ-ﬁﬁ@@ﬁ%%%ﬁﬁ%%ﬁﬂﬁﬁ%ﬂﬁﬁﬁﬂm%?
1. Heckman’s / %ﬁ:l
2. Wisconsin’s/ faxaIf=a

3. Hurlock’s / EWVW
4. Puberty’s / BICE]



Correct Answer :-

e Heckman’s / %ﬁq

27) Mild retardation is a category of mental retardation having an IQ of .

| 9g WHedar AAR®G Hear el qofig o _ w1 ey gar gl
1.70 to 89 / 70 ¥ 89 dh
2.20 t0 29 /20 ¥ 29 AP
3.50 t0 69 / 50 H 69 AD

4.30to 49 /30 9 49 A&

Correct Answer :-

.« 50t069 /50" 69 ddH

28) To improve the problem solving skills in children, which of the following

things can be done?/ S & THHTSH ) YAHH & P A JUR H1 & 1T,
frafafea & 9 w fear s a@ar g2

1. All of the above / SURT T

2. Invite children to talk or write about ideas only / $had faRl & IR 8 o910 A a1 foreq &
INCCEICIRIEIERE R

3. Ask children to draw pictures for stories only / T I Had a'TEﬂﬁq)f & 1%111 [CEGEIEKA] a'% |

4, Use blocks and models only / Had sl 3R AT BT IUTNT B |

Correct Answer :-

« All of the above / IURad IHt
29) Inclusive education means: / GHTARN fRram &1 3ref 2:

1. %ducation for all children in school. / ¥l 7 gt 5= & ﬁﬂl fRrem| gwmaxft e ot of

2. Education of intelligent children. / i &= &1 e
3. Education of the poor children / RIS &=l ot fRref
4. Education of the minorities / 3/caaB®! BT &

Correct Answer :-

. %ducation for all children in school. / ¥%a ¥ Tt sl & forg fRrem | Tma=h fRiem &1 s



30) GAD stands for: / STl &7 314 §:

1. Genetic Anxiety Disease / S{Tﬂam IEGIEW] (@ﬁﬁa? Qﬁr{?ﬁ %@GD

2. Genetic Anxiety Disorder / 3TIaRI® Ridl fa@R (SHfew Tomge! fewaiieR)

3. Generalized Anxiety Disorder / ARG fdl fABR (SRR Togel fewsiiey)
4. Generalized Anxiety Disease / AP AT I (FRAgse Uorgc! feddls)

Correct Answer :-

- Generalized Anxiety Disorder / TG Al fAdR (TRAZsS Togd! fEwaiieR)

Topic:- General English(L1GE)

1) Fillin the blank with the correct option in the given sentence:

The custom which permits a woman to have more than one husband at a time is known as —andry.
1. miso --

2. multi --

3. mono --

4. poly --

Correct Answer :-

2) Read the following passage and answer the question given below:

Once upon a time there lived a nest of mice under a tree peacefully. But once a herd of elephant went that way and destroyed the
homes of all the mice, as a result of which many of them were crushed to death. Then the chief of the mice decided to approach the
elephant head and request him to guide his herd through another route. The elephant agreed to this and took another route to the
water hole. And so the lives of the rats were saved. One day a group of hunters arrived and trapped the herd of elephants in huge
nets. Then the elephant remembered the chief of the mice. He summoned one of the elephants of his herd which had not been
trapped to contact the chief of the mice. On listening to the elephant, the mouse took his entire group of mice and they gnawed large
holes in the nets which had trapped the elephant herd. Thus, the elephant herd was able to move out of the nets and was free.

‘Who went to call the mice?
1. An elephant calf

2. The elephant king
3. A trapped elephant

4. A free elephant

Correct Answer :-



® A free elephant

3) Read the following passage and answer the question given below:

Once upon a time there lived a nest of mice under a tree peacefully. But once a herd of elephant went that way and destroyed the
homes of all the mice, as a result of which many of them were crushed to death. Then the chief of the mice decided to approach the
elephant head and request him to guide his herd through another route. The elephant agreed to this and took another route to the
water hole. And so the lives of the rats were saved. One day a group of hunters arrived and trapped the herd of elephants in huge
nets. Then the elephant remembered the chief of the mice. He summoned one of the elephants of his herd which had not been
trapped to contact the chief of the mice. On listening to the elephant, the mouse took his entire group of mice and they gnawed large
holes in the nets which had trapped the elephant herd. Thus, the elephant herd was able to move out of the nets and was free.

‘Who lived peacefully under a tree, according to the story?
1. Two mice

2. A nest of mice

3. Ten mice

4. Four mice

Correct Answer :-

® A nest of mice

4) Read the following passage and answer the question given below:

Once upon a time there lived a nest of mice under a tree peacefully. But once a herd of elephant went that way and destroyed the
homes of all the mice, as a result of which many of them were crushed to death. Then the chief of the mice decided to approach the
elephant head and request him to guide his herd through another route. The elephant agreed to this and took another route to the
water hole. And so the lives of the rats were saved. One day a group of hunters arrived and trapped the herd of elephants in huge
nets. Then the elephant remembered the chief of the mice. He summoned one of the elephants of his herd which had not been
trapped to contact the chief of the mice. On listening to the elephant, the mouse took his entire group of mice and they gnawed large
holes in the nets which had trapped the elephant herd. Thus, the elephant herd was able to move out of the nets and was free.

Who trapped the elephants?
1. Circus people

2. Hunters

3. Elephant catcher

4. Poachers

Correct Answer :-

* Hunters

5) Read the following passage and answer the question given below:

Once upon a time there lived a nest of mice under a tree peacefully. But once a herd of elephant went that way and destroyed the
homes of all the mice, as a result of which many of them were crushed to death. Then the chief of the mice decided to approach the
elephant head and request him to guide his herd through another route. The elephant agreed to this and took another route to the
water hole. And so the lives of the rats were saved. One day a group of hunters arrived and trapped the herd of elephants in huge



nets. Then the elephant remembered the chief of the mice. He summoned one of the elephants of his herd which had not been
trapped to contact the chief of the mice. On listening to the elephant, the mouse took his entire group of mice and they gnawed large
holes in the nets which had trapped the elephant herd. Thus, the elephant herd was able to move out of the nets and was free.

‘Who did the chief of rats approach?

1. The leader of the elephant herd

2. The lion
3. The king of the wolves

4. The king of cats

Correct Answer :-

« The leader of the elephant herd

6) Read the passage carefully and answer the question given below:

“Tsunami” is a Japanese word, a blend of “tsu” meaning “harbour” and “nami” meaning “wave”. It is a series of undersea waves.
Earthquakes, landslides, volcanic eruptions, explosions and even the impact of cosmic bodies such as meteorites can generate
Tsunamis. Tsunami can savagely attack coastline causing devastating property damage and loss of life. What causes Tsunami?
When an earthquake shakes the ocean floor, there is a sudden dislocation of the sea-bed, which results in displacement of water,
producing Tsunamis. As they approach shallow waters, they rise to a height of over 30 meters. A towering wall of water dashes
against the coast causing floods, loss of life, and property damage. On 26 December 2004, the Tsunami triggered by a massive
earthquake in Sumatra, an Island in Indonesia, ripped through Andaman and Nicobar Islands , the coast of Tamil Nadu,
Pondicherry, Andhra Pradesh and Orissa. It caused floods, loss of life and property damage to a great extent in Karnataka.

When did Tsunami hit India last?

1. 26" December 2003
2. 26" December 2004
3. 26" December 2005

4. 26" December 2002

Correct Answer :-

o 26t December 2004

7) Read the passage carefully and answer the question given below:

“Tsunami” is a Japanese word, a blend of “tsu” meaning “harbour” and “nami” meaning “wave”. It is a series of undersea waves.
Earthquakes, landslides, volcanic eruptions, explosions and even the impact of cosmic bodies such as meteorites can generate
Tsunamis. Tsunami can savagely attack coastline causing devastating property damage and loss of life. What causes Tsunami?
When an earthquake shakes the ocean floor, there is a sudden dislocation of the sea-bed, which results in displacement of water,
producing Tsunamis. As they approach shallow waters, they rise to a height of over 30 meters. A towering wall of water dashes



against the coast causing floods, loss of life, and property damage. On 26 December 2004, the Tsunami triggered by a massive
earthquake in Sumatra, an Island in Indonesia, ripped through Andaman and Nicobar Islands , the coast of Tamil Nadu,
Pondicherry, Andhra Pradesh and Orissa. It caused floods, loss of life and property damage to a great extent in Karnataka.

‘Where did the earthquake that caused the tsunami originate from?
1. Java

2. Philippines

3. Borneo

4. Sumatra

Correct Answer :-

e Sumatra

8) Read the passage carefully and answer the question given below:

“Tsunami” is a Japanese word, a blend of “tsu” meaning “harbour” and “nami” meaning “wave”. It is a series of undersea waves.
Earthquakes, landslides, volcanic eruptions, explosions and even the impact of cosmic bodies such as meteorites can generate
Tsunamis. Tsunami can savagely attack coastline causing devastating property damage and loss of life. What causes Tsunami?
When an earthquake shakes the ocean floor, there is a sudden dislocation of the sea-bed, which results in displacement of water,
producing Tsunamis. As they approach shallow waters, they rise to a height of over 30 meters. A towering wall of water dashes
against the coast causing floods, loss of life, and property damage. On 26 December 2004, the Tsunami triggered by a massive
earthquake in Sumatra, an Island in Indonesia, ripped through Andaman and Nicobar Islands , the coast of Tamil Nadu,
Pondicherry, Andhra Pradesh and Orissa. It caused floods, loss of life and property damage to a great extent in Karnataka.

How does “tsunami” translate in English?
1. Big wave

2. Harbour wave

3. Ocean wave

4. Giant wave

Correct Answer :-

e Harbour wave

9) Read the passage carefully and answer the question given below:

“Tsunami” is a Japanese word, a blend of “tsu” meaning “harbour” and “nami” meaning “wave”. It is a series of undersea waves.
Earthquakes, landslides, volcanic eruptions, explosions and even the impact of cosmic bodies such as meteorites can generate
Tsunamis. Tsunami can savagely attack coastline causing devastating property damage and loss of life. What causes Tsunami?
When an earthquake shakes the ocean floor, there is a sudden dislocation of the sea-bed, which results in displacement of water,
producing Tsunamis. As they approach shallow waters, they rise to a height of over 30 meters. A towering wall of water dashes
against the coast causing floods, loss of life, and property damage. On 26 December 2004, the Tsunami triggered by a massive
earthquake in Sumatra, an Island in Indonesia, ripped through Andaman and Nicobar Islands , the coast of Tamil Nadu,
Pondicherry, Andhra Pradesh and Orissa. It caused floods, loss of life and property damage to a great extent in Karnataka.



How high can waves rise near the coast?
1.301t
2. more than 30cm

3. more than 30 meters

4. 20 ft

Correct Answer :-

® more than 30 meters

10) Choose the appropriate determiner for the given sentence.
We invited friends to our home for the weekend.
1. few

2. afew

3. every

4, Much

Correct Answer :-

» afew

11) Fill in the blanks with the correct option in the given sentence:
It’s important to show the interview-- that you are friend-- and approach--.
1. --ee ... --ship ... --able

2. --ees ... lines ... --ing

3. --s ...--ly ... --ability

4. --er ... --ly ... --able

Correct Answer :-

e -—er..-ly..--able

12) Which of the following options best combines the given sentences?

My uncle was 40 years old. He was injured in a foundry accident.
1. At the age of 40, my uncle was injured in a foundry accident.
2. At the age of 40 years old, my uncle was injured in a foundry accident.

3. My uncle for 40 years age, he was injured in a foundry accident.



4. My uncle, at 40 years old, injured in a foundry accident.

Correct Answer :-

« At the age of 40, my uncle was injured in a foundry accident.

13) Choose appropriate articles for the given sentence:

If you are suffering from ____ bad mood that won’t go away, it’s important to see ____ doctor.
1. No article required ... no article required

2. a ... no article required

3.a..a

4. the ... the

Correct Answer :-

14) Choose appropriate article for the given sentence:
Sheis  doctor at St. John’s hospital.

1. an

2. the

3.a

4. no article

Correct Answer :-

15) Choose the appropriate option that rewrites the given sentence in its passive voice.
Some parents did not approve of the play because of its obscene dialogues.

1. The play was not approved of by some parents because of its obscene dialogues.

2. Because of its obscene dialogues, some parents did not approve of the play.

3. Some parents because of its obscene dialogues did not approved of the play.

4. Some parents had not approved of the play because of its obscene dialogues.

Correct Answer :-

« The play was not approved of by some parents because of its obscene dialogues.



16) Choose the appropriate synonym for the highlighted word in the given sentence.

Can you please look into the rear view mirror?
1. front

2. opposite

3. behind

4. adjacent

Correct Answer :-
e behind

17) Choose the appropriate tenses to fill in the blanks in the given sentence:

the dirt off your shoes beforeyou ___ in.
1. Wiping... coming
2. Wiped... are coming
3. Wipe... came

4. Wipe... come

Correct Answer :-

e Wipe... come

18) Choose the appropriate antonym for the highlighted word in the given sentence.

I have confidence the new leader will bring about great changes.
1. insecurity

2. interest

3. uncanny

4, assurance

Correct Answer :-
 insecurity

19) Choose the appropriate conjunction for the given sentence.

it rains on Sunday, I will not be able to go to church.



1. Although
2. But
3. Since

4. 1If

Correct Answer :-

20) Choose the appropriate prepositions for the given sentence:

It takes a creative persontocomeup_ ideas__ new products.
1. through ... of

2. outof ...in

3. for...on

4. with ... for

Correct Answer :-
e with ... for

21) Choose an appropriate modal for the given sentence:

I___ apply my knowledge creatively as I have designed the website.
1. shouldn’t

2. needn’t

3. can

4. could

Correct Answer :-

22) Choose the option that best explains the highlighted expression:
My friend is a down-to-earth person.

1. very sad

2. very practical

3. very mischievous



4. lives on the ground floor

Correct Answer :-
e very practical

23) Choose the most suitable pronoun for the given sentence:

Children always want to do things by

1. themselves
2. myself
3. yourselves

4, ourselves

Correct Answer :-
o themselves

24) Read the sentence carefully and choose the option that has an error in it:

Never look direct at the sun.
1. Never look

2. at the sun.

3. No error

4, direct

Correct Answer :-

e direct

25) Choose the appropriate tense to fill in the blank in the given sentence:

I the Minister of Education on coming Friday.

1. have been meeting
2. am meeting

3. Meeting

4. was meeting

Correct Answer :-

e am meeting



26) Change from indirect to direct speech.

They said, “We’ll start the work tomorrow.”

1. They told us that they will start the work tomorrow.

2. They inform us if they would start the work the next day.
3. They said us that they will start the work the next day.

4. They told us that they would start the work the next day.

Correct Answer :-

» They told us that they would start the work the next day.

27) Replace the underlined words with the correct option that will change the sentence from passive voice to
active.

By boiling tap water for at least 15 minutes, the chlorine can be evaporated in order to make the
water habitable for fish.

1. the chlorine can have been evaporated
2. they will evaporate the chlorine
3. by evaporating the chlorine

4. you can evaporate the chlorine

Correct Answer :-

» you can evaporate the chlorine

28) Choose the option that substitutes the given phrase appropriately.
Existing or happening in the same period of time

1. Recent

2. Latest

3. Archaic

4. Contemporary

Correct Answer :-

e Contemporary

29) Choose the right tag:

It is quite dark, ?



1.is it
2.isn't it
3. does it

4, doesn't it

Correct Answer :-
e isn'tit

30) Choose the right tag:

Riya would like to attend the music class, ?
1. wouldn’t she

2. would she

3. doesn’t she

4, does she

Correct Answer :-

e wouldn’t she

Topic:- General Hindi(L2GH)

1) ¢ 3R SHME & 9 R fFA 9F e 59 W0 AR F) AP & e G189 3R Ted1 & Iy
NI T 1T | o9 dF THT I8! 81, 99 a9 URday § Aa-ufd 9gd M a1 31S &9 |
g1 o F U & "Rt A $ig o FwTac T 8| RoraeT 79 o’ yoR =g, 33t ueR o+ $Y
HTET BT 30 W # S| o SR $HM, A T WiaT 8, $4¥ SR S & i 1 way g,
SATHT DI Y& B 3R H° IS &1 T4 §11 I8 fhdt gzm & oft, fnft g wafea &t warefisran
& B T HIA BT YT A F | STUPT A T, I ARg BT YH 3T A 3R gk BT 74 1%,
39 UPR &1 y¥ 98 AF 1 3 U= 4ol & |19 arell & <pT o1 & fore s i R 9 81 afe
ot g & AR aTel el TaREKI 2T BT 81, df ITPT 5 UPR BT BIA ¢ B! WIH—d1 &
oo U= wirg | 3= F1 ward_ar & e s I fosaT =1 Y87 AT, 39T 98 e fH:4ds, o
T T, o7 &, wardiear & & o, fRaemwa, gean, Mafaay ok ewiamat o - fear s
SIS JHHT 74T TH UPR | 39 fe g0 Wrdi=a1 & &F H, TP HeH T gerd: 39T Tl
3T I UTY HT He TS gH HNTHT US 8T 8 | ¢/ B wrehi=rar & @ €1 2 Hiarn srega It
3R IPRTATE BT 3 & AHA gER U H U I, 3% oiftre wiferrmedt @ faam o suR 5w
PTH HT Bd g8 g3 fr 39 I0g, gHIR F1UT § | 9915 331 iR 37%-3 @l &t xifaaal guRl
S I@TS1 # @il & 3R 32 & Aoigel UNTeu, Uud 3fiR ST BT Ied WUTd I BT 2 |

ST TN Bl USHR -7 ID 7T UY BT IR 9a133:
U= TR TS § aRae SRaTyd) ) foras Jad #1381 32
1. Had B DI IS



2. Dad YH YT TSI
3. Had YTH® HEdl BT WIS Ja
4. JURTer] FHT

Correct Answer :-

. SWRIad gt

2) 4¥f 3R S & 9 W frd 911 a1at 39 vl AR $1 AP F e I8y 3R Tedr & J1Y ST
BT T1feT | oI d% T 8] 81, 99 9% HRaay # fAre-ufa 9gd oM ardl TS 4 7 811 o 3
IUrAT & ARt § ®ig WY To1ae 7 g1 e 19 o yoR T, 3 ueR 4 @ yiaAr &Y e 79 §
Sma | enf 3R S, A 1 HiaT g, $47 307 3T & oIF 1 HaY g, STeHT B Y& B3 3R S SoM
BT A1y 81| 95 [t gz & +f, forsht g safaa ot wardiaar & 819 a1 gaeq &1 99— 7 991 3maeT
T 9Tg, I e BT YH 3ATT A MR GER $T A 913, S YHR $T YyH a5 a1 g Fi=T 4wl & wr= aret
P TH o & forg FI off E T 81 afe freft o & A a1 FEY TaRewd @ SrSTd g, o 3991 59
UPR $T HTA ¢ B W1eh=ar & favg awsn s | 331 9 Wrdi=ar & e st I fasar < Te1 o1, I9aT
98 a1 f1:vide, orcdia @1 T, fora oA, wardiqar & &= 9, f@arwd, gean, Mafaat oiv yatart & wi=
fear ST Smavae THET T UH UHR A 39 9 g9A WiehHar & & §, U e WY gerd? @1 Ul
T I T FT B TS gH UITHT US 7T 31 3 Bt w@refi=ar & Humw g1 3 Hamn siga IRt 3R
HIET B SN & ATHA GOk FU § U foban, S5 Sifres ifaa=medt o1 fan ok g9 59 &9 &1 %d 98
g 8 % 37 quy, g9 g1l € 9 9e1s 3@ 3R 39%-9 Al &t feaal gar) ois sars # @it § oik
3§ Aelgdl UNTAUH, WUH 3R IeUTd BT sy WTd & ) 2

IUYe TR B! USHR AR U T ¥Y BT IR q4133:

U=H- U T & SR o= &1 @1 & fore «an arus 3t
1. I YH P AT

2. ad Helgs! YNTed-

3. Had Ui Hedm

4. JURTad gt

Correct Answer :-

o SWRIad It

3) ¥ 3R $HH & W R fFY 1 9t 39 v AR #) A6 F I Ared iR Tear & 91y S9N
BT T1feT | oI a9 T I8! 81T, 99 9% URaay A fA-ufd 9gd oF a1t 31S 4 A 81| 9 31
IUTFAT & ARt § His WY Th1ae 7 81 e 19 o yoR 1@, 3 UeR 4 B yiaAr &Y e 79 o
Sma | e SR S, A &1 HiaT g, $4T 3R STeHT & T BT HaY g, STeHT B Y B3 3R S SoM
BT A1y g1 | a5 [t gzn & +f, fondht g safaa ot wardiaar & 8199 a1 gaaq &1 91y= 7 991 3maeT
T 978, I ARE BT YH 3ATT A MR Gk BT A 913, S YBR &1 4H a5 a1 §f =T el & ar= aret
P TH o & forg FIE ff R T 81 afe et o & A a1 FEY Tavex @ 3rSTd g, o 39%1 59
UPR &1 11 ¢ P Wrhaar & favs Tusm o | 3 &) wardi=ar & fore s I far i vet o1, 39T
g8 fo fA:%ids, srcia =1 o1, for foA, waneh=anr & & ¥, fRyemwd, geeon, Wafaal 3w ewmiamaf o ==
fear ST Smavge THET 4TI TP UHR A 39 9 g1 Wihaar & & #, U e WD gerd? 3|1 UT|
AT I T FHT B TS g6 UIHT U 2T 31 3 Bt w@refiar & Humw g 3 W siga IRt 3R
HTAR DI A F AR gAY U J U a1, 37 Siftre rfda=mmedt a1 f3an SiR g9R 59 &9 &1 %d 98
g3 B fr 59wy, un a1l €1 | 9e1s 399! 3R 39%-1 N 3t fRal gaR! s 3@re d @it § 3R
T § AoTgd! URTAUH, YU 3R ST BT I R B 3T



ST TR $ UGH -1 T T ¥y $HT SR Ja1s3:
- U TR | ‘Heigal URTAu & T ey 82

1. IS gl

2. STH Y IS gl
3. YTTH® Hexdl
4, FHTNTD gl

Correct Answer :-

4) ¥ 3R A & T R fFA 91 ara 59 v AR &1 e & e a1y iR Tedr & 91y SEnT
BT T1feT | oI d% AT F8l 81, 99 a9 HRaay # fAre-ufa 9ga oM ardl 1S 4 7 811 o 3
IUTAT & ARt § ®i WY To1ae 7 g1 e 19 o yoR T, 3 ueR 4 B yiaAr &Y e 79 §
Sma | enf 3R U, A 1 HiaT g, $47 3% 3MTeHT & 1T &1 HaY B, STeHT B Y& B3 3R H SoM
BT 1Y g1 95 [t gzn & +f, fonsht g safaa 6t wardiaar & 8199 a1 gaaq &1 91y= 7 991 3musT
T 918, I ARE BT YH 3ATT A MR GER $T A 913, S YHR &1 4o a5 A | & Fi=T 4wl & wr= aret
P B O & forg FIE off = T 71 afe et o F A a1 FEY FaRewd @ 3rSTd g, o 3991 59
UPR $T HTA ¢ B W1eh=ar & favg Iwsn s | 331 9 Wrdh=ar & e s I fasar i 31 o1, I9aT
98 fa=1 f1:vide, orcdia @1 T, fora oA, wardiqar & &= 9, farwd, gean, Mafaat oiR yatart & wi=
fear ST Smava® THET T TP UHR A 39 9 gHA Wiehaar & & H, U eH WY gerdy @1 Ul
T I T FT B TS gH UITHT US 7T 31 3 Bt w@refi=ar & Humw g1 3 A siga IRt 3R
HTAR DI A F AR O U J U a1, 3% $iftre rfqa=mmedt a1 f3an 3iR g9R 59 &9 &1 %d 98
g9 8 % 37 quy, g9 g1l € | 9ers 3@ 3R 39%-9 Al o} feaal gur) ois sars # @it § ok
3§ Aelgdl YNNI, WUH 3R IeUTd BT sy WTd & ) 2

ITYe TR B USHR AR U T ¥Y BT IR q4133:
-y o1 gafgardt € 3-

1. Holed

2. YRUT HRAT

3. 31y

4, B

Correct Answer :-

. AYH

5) ¥ 3R $HF & AW R fFY 91 9 39 v AR F) A6 F I Ared iR Tear F 91y S9N
BT 1feT | o1 a9 T I8! 81T, 99 9% URaay A fA-ufd 9gd oF 1)t 31S H A 81| 9 31
IUrAT & qif § His WY Tp1ae 7 81 e 19 oy yoR d@re, 3 UeR 4 B yiaAr &Y oA 79 §
T | o 3R $H, W 1 et g1, $47 3R ST F e BT WY B, T B Yk B 3R FA S
D1 A1y 81| a5 [t gzn & +f, fonsht g safea ot wardiaar & S99 a1 gaaq &1 91y= 7 991 3ma®T
T 918, I RE BT YH 3T A MR Gk HT A 913, S UBR &1 4H a5 a1 &f =T il & wr= arent
P TH O & forg FIE o E T 81 afe et o F A a1 FEY Tavew @ 3rSTd g, o 3991 59
UPR &1 11 ¢ 3 Wrhaar & favg T | 3 &) wardi=ar & fore s I far i vet o1, 39T
g8 a1 f1:vide, orcia @1 T, forw oA, wardiqan & &= 9, farwa, geam, Mafaat oiv ywafamt & wi=
fear ST Smawge THET T TP UHR I 39 T g9 Wiehaar & & #, U eH WD gerde @1 UT|



3T I UTY BT B TS g8 UNHT U3 TT 81 3 BT TWrefiar & Hud & 3 WA srgd ant 3R
AT B I & A goR FU A Uy foban, 35 Siftres ifara=medt &1 feam ok g9 59 &19 &1 %d 98
§T ? T 39 97y, R g1l €1 | 9e1s 37Ta! iR 39%-3 ANl @ el sar o Iure § @ift § ok
1§ Holgdl URTAYH, WU 3R SaTd BT I3 TITIT R 761 3

SUYa TR B UgHR A YD T Uy BT IR TA154:
- o 3R $AE Ft ardear & e o 82

1. AT R Bl

2. B AR YUF Bt

3. 3AfAH g B

4. TTEY 3R TEa1 B

Correct Answer :-

. TEY 3R TG B

6) ¥¥ 3T THH & W R fFY 91 a1 39 iy AR B AH4 F AT A8 iR Tear F 91y ST
BT TIfeT | oI d% THT 8l 81, 99 a9 HRaay # fAre-ufa 9ga oI ardl 3rTS &9 7 811 o 3
IUAT F 11t & F1E ot Fp1ae 7 81| e 79 oy ueR 9, 3W R e #Y yiaer &) oA 79 A
S | o 3R $UM, 9 BT HieT 81, 4R 3R 3T & i &1 WY 8, 3T DI Y FA 3R A IsH
BT AU g1 a8 fHdt g=m & oft, fossdt ga aafaa ot wardiear & S99 a1 $aaq &1 91y 7 591 3MadT
T 9Tg, I e BT YH 3ATT A SR GER $T {1 918, 39 YHR &1 YH ag a1 gt Fi=1 ol & 7= aral
P B o & forg P ot E T 811 afe freft o & A 9 FEY SaRexd @ SrsTd B, ° 3P 59
UPR $T P ¢ I W1ehaT & favg Tvs g | 331 9 Wrdi=ar & e s I farar i Te1 o1, I9&T
g8 a1 fF:xide, orcda @1 T, forw foF, wardiqan & &= ¥, f¥arwd, gear, Mafaat eiv ewfarat & wi=
o T SrTa=a® AU 4TI UH PR | 39 o g9+ Widiar & &7 §, TP deu s gerdy ¥@r 4Tl
3T I UTY BT B AT g6 U U 38T 81 0 Ft warefi=rar & I € 3 dar sigd IRt 3R
AR B A F A GO =0 A U 5, 37 siftre wifda=mmedt o1 fean ik R 59 &1 &1 wa g8
BT ? 6 39 90y, guR g1dl 81 | 9e1s 37Ta! MR 39%-7 Al @ fdaal sar o Iure § @ift € ok
2 A AoTgd! YR, UU™ 3R STd BT Ied RITT $2 6 &

ST TR B UGH -1 T T ¥Y HT SR Ja1s3:
- 3§ YU, IUTd BT Ied I RMAT HI IR @ ?
1. SR gt

2. YTfH& Heamarat
3. Ty TRt

4. TSI dHgararg!
Correct Answer :-

. YTH® Hexamard!

7) 9+ 3R HE & W R fFY 9 a9 39 iy AR B A4 F A Aed iR Tear F 91y SET
BT T1feT | oI a9 AT 8] 81, 99 9% HRaay # fAre-ufa 9ga oI ardl 3R1S 9 7 811 o 3
IUTAT & 9Ff § ®ig WY To1ae 7 g1 e 19 o yoR T, 3 UeR 4 @Y yiaHr &Y e 79 o
Sma | enf 3R S, A &1 HiaT g, $47 307 3T & oIF BT HaY g, STeHT B Y& DI 3R S SoM
BT A9 g1 a5 [t gzn & +f, fossht g safaa ot wardiaar & 8191 a1 gaaq &1 91y= 7 991 3mueT



T 9Tg, I e BT YH AT A SR GER $T {1 918, 39 YHR &1 YH ag a1 gt Fi=1 ool & 7= aral
P B O & forg P off E T 811 afe frelt o & A A FEY SaRewd @ SrsTd g, °f 3991 59
UPR $T HTA ¢ ) W1ehar & favg Twsm g | 331 9 Wrdi=ar & e s I farar < Te1 o1, S9&T
g8 fea fA:%idg, srcia 1 o1, fora foA, waneheran & & o, fRaemwd, geeon, Wafdal v ewmfemaf o ==
o ST SrTa=a® AU AT TP YHR | 39 o g9 Wirdiar & &7 §, TP deu IS gerdy 3@ Ut
T I UTT BT B AT §H U U 38T 81 S Ft warefirar & I € 7 dar sigd IRt ok
YHTAR B A F A GO =0 A U 5, 37 siftre rfda=mmedt o1 fean ik R 59 &9 &1 wa g8
BT ? 76 39 99y, guR g1ul 81 | 9e1s 3@ MR 394F-7 Al @ Afwaal sar o Iure § @ift § ok
2§ AoTgd! YR, UU™ 3R STd BT Ied RITIT $2 6 &

ST RIS B UGH -1 U T ¥Y HT S<R Ja1s3:

- o & Widiar & &7 # frad §54T 9 59 U9 Hed 1D 79 e
1. AP &I

2. YTfH gEa&y

3. M g&y

4. QTS g&I&Y

Correct Answer :-

. uiffe gxaay

8) u¥ 3R $HH & M W fHA oM ara 39wl AR &1 e & e Iy 3R Tedr & 1Y SERT
BT T1feT | oI d% T A8 81T, 99 9% URaay A fA-ufd 9gd oM a1dt 31S 4 A 81| g 31
IUTAT & qFf § Hig WY Tp1ae 7 81 e 19 o yoR 1@, 3 yeR 4 @ yiaAr &Y e 79 o
Sma | e 3R S, A 1 HiaT 8, $47 3% 3MTeHT & T BT HaY g, STeHT B Y& B3 3R S SoM
BT A1y 811 a5 [t gzn & +f, fonsht g safaa ot wardiar & S99 a1 gaaq &1 91y= 7 991 3maHT
T 978, I ARE BT YH 3TT A MR Gk HT 6 913, S YHR &1 4o a5 a1 &f Fi=T il & wr= aret
P TH O & forg FIE off RE T 71 afe et o F A I FEY TaRew @ rSTd g, o 39%1 59
UPR &1 B0 ¢ P Wrhar & favs T o | 3 &) wardi=ar & fore s I far =i vet o1, 39T
g8 a1 f1:¥ide, orcdia @1 T, forw oA, wardiqanr & &= 9, f@arwd, geam, Mafaat oiv yatart & wi=
o ST SiraRa® JHE AT U YR A 39 o gHA WA & 89 ¥, e den fiD gerer 1|1 ATl
AT I T FT B TS gH UIHT TS 37T 31 3 Bt w@refiar & Hum g} 3 W siga IRt 3R
BT B A F A g wU A U1 faran, 37 it wifwa=medt o= fan 3R 39N 39 &1 %1 B a8
g3 8 % 337 quy, g9R g1l 8 ¥ 921 3@ iR 39%-9 al o} fdaal gar) ois sars # @it § oik
21 # AoTgdt URTAUH, WuE 3NR ST BT IeT TITId H 6T 8

ITYe TR B USHR AR U T ¥Y BT IR qa134:
- 'SS SWISA' | FT a1y 82

1. FHA Y B &A1

PAEER|

3. oilfgd

4, SToRdl

Correct Answer :-

o A AT BR G



9) ¥ 3R $HH & TH W fFA oM ara 59 v AR &1 e & e Iy 3R Tedr & 1Y SERT
BT I1feT | o1 d% THT A8 81T, 99 9% URaay A fA-ufd 9gd oF a1dt 31S H A 81| 9 31
IUrFAT & qRf § B WY Tp1ae 7 81 e 19 o yoR g9, 3 ueR 4 B yiaAr &Y e 79 o
S | e 3R SHM, 79 BT WaT B, SR 3R ST & i BT T B, SMTHT BT Y&k P 3R S IoM
D1 919 31| a5 [t gzn & +f, fonsht g safaa ot wardiar & S99 a1 gaaq &1 91y= 7 991 3Ma®T
T 918, I ARE BT YH 3TT A MR Gk HT A 913, S YBR &1 4H a5 a1 §f =T il & wr= arent
P TH O & forg FIE o RE T 81 afe et o & A I FEY TaRew @ rSTd g, o 39%1 59
UPR &1 11 ¢ P Wrhaar & favg T | 3 &) wardi=ar & fore s I far =i vet o1, 39T
g8 fe fA:%dE, srcia =1 o1, for foq, waneh=an & & °, fRyemwa, gean, Wafaal v ewmiamaf o ==
fear ST Smavge THET 4TI TP UHR A 39 T gHA Wiehaar & & #, U $eH WY gerde @1 UT|
AT I T FHT B TS gH UIHT TS 37T 31 3 3t w@refiar & Humw g 3 W siga IRt 3R
HTARE DI A F AR AR =0 J U a1, 37 Siftre rfqa=mmedt a1 f3an SiR R 59 &9 &1 %d 98
g3 B fr 59wy, sun a1l €1 | 9e1s 399! 3R 39%-1 @l 3t fwRaal saR) s 3@re d @it § 8k
T ¥ ATgd! URTUH, YU 3R ST BT I R B I

ST TR I TGP -1 T T ¥y HT IR Ia153:
- e g™ A arerd @-

1. T &M R R

2. Toae ST

3. TR Hrd

4. ¥Pp[dc Slcf-l

Correct Answer :-

o TP[dC SICI

10) & 3R UM & 9 R fHA W11 1@ 39 v AR FY Ap7 F T A8 iR Tgar F 91y ST
BT A1feT | S a T T8 81T, 99 9% URaay A fAeu-ufd 9gd o1 1) 31S &H 9 81| g 9
IUHT & 1t § SIS ot Forae 7 81| e 79 oy uoR are, 3W yeR o @Y yraer &t oA 79 o
Sma | e SR S, A 1 HiaT 8, $47 3R STeHT & T BT HaY g, STeHT D) L B3 3R H9 SoM
BT A1 g1 a5 foet gzn & o, fonsht g safaa ot wardiaar & S99 a1 gaaq &1 91y= 7 9941 et
T 918, I ARE BT YH 3T A MR gER $T 0 917, 39 YHR &1 4 ag am | &t =T ol & ar= aral
P H W & forw FIg off TE T 811 afe frelt et & AR 9 FEY SaRexd @1 SrsTa B, ° 3% 39
UPR $T HTA ¢ I WIEhaT & v Tus | %1 9t Wrdi=ar & e st I farar i ve1 o1, I9&T
g8 a1 fF:vide, orcia @1 T, forw oA, Wi & &= 9, f¥arwd, gear, Mafaat oiv ewfaraf & wi=
fear ST Smava® GHET 11 TP UHR A 39 39 g0A wWidiFar & &3 §, T e W gerdy @1 Ul
U I UTY T e 3T g9 HINHT US T6T 81 31 Y warefi=er & U & A War srsgar It 3R
HRTETd B I & A goR U A Uy foban, I8 Siftres ifaa=mett o1 feam ok g9 59 &9 &1 %d 98
§T ? T 39 97y, guR g1ul €1 | 9e1s 3@ iR 39F- Al @ el sar o Iure § @ift § ok
3 A goTgd! YR, U 3R ST BT I R B 38T &l

ST TR P UG 1Y IR T U BT 3w Id153:
w=A- ey & o ot 1fy @2

1. ¢

2.0

3. o

4, fommf



Correct Answer :-

11) & 3R U & 9 R fHA 911 910 39 v AR F) Ap1 F T 9red iR Tgar F 91y ST
BT A1feT | oI d T A8 81T, 99 9% URaay A fAu-ufd 9gd o1 a1d 318 &4 9 81| g+ 91
IUrAT & ARt § B WY Tp1ae 7 811 e 19 o’y yoR 9re, 3 ueR 4 B HiaAr #) v 79 o
S| o 3R SHM, A7 BT e 8, $47 SR ST F FHF BT WY Y, T B Y P 3Tl S
BT A1 g1 75 [t gzm & o, fonsht gy safaa ot wardiaar & S99 a1 gaaq &1 91y= 7 991 3maeT
T 918, I ARE BT YH 3T A MR gER $T 0 917, 39 YHR &1 4 ag a1 &t =T ol & ar= aral
F B o & forg P ot TE 7 811 afe frelt e & A ard FEY SaRexd @1 3rsTa B, °f 39H1 39
UPR $T P ¢ B WIehaT & v Tus o | 3x1 9t Wrdi=ar & e st I farar i Te1 o1, I9&T
g8 o1 fF:xide, orcia @1 T, forw oA, wardiqan & &= 9, farwd, gear, Mafaat oiv ewafaraf & wi=
fear ST STawge WS 4TI TP UPR 9§ 39 39 sHH Wit & &7 #, U $oH S gerdY 3T Tl
3T I UTY BT B 31T g8 UNHT US TT 21 3 FT TWrefiar & Hurd & 3 WA g ant 3R
RATET B A F A g8 =0 A U7 5an, 37 Siftre wrfd=imedt a1 fan ok R 39 &1 &1 %a g8
§T ? T 39 97y, guR g1ul €1 | 9e1s 3@ iR 39F- Al @ Afwal sar o Iare § @ift § ok
391 § AoTgS! URTAUH, WU iR ST BT I RITAT HR T8 &l

IUY T TR P UGHR 1Y IR T U BT IR Id183:
WA JUTAT | IUH 3 -

1.3U

2.U1™9

3. 3

4. 39

Correct Answer :-

12) o 3R UM & 9 R fF 911 1@ 39 v AR F) Ap1 F AT 9ed iR Tear F 91y ST
BT A1feT | S do T T8 81T, 99 9% URaay A fAeu-ufd 9gd o1 1)t 318 &H = 81| g 9
IUAT & 11t § H1F ot Fo1ae 7 81| e 79 oy ueR g, 3W yeR o #Y yrawr &) oA 79 o
ST | o 3R $UM, U BT HieT 8, 4R 3R 3T & i &1 WY 8, M1 DI Y FA 3R A IsH
BT A1 g1 75 fedt gzn & oft, fonsdt gy safaa ot wardiaar & S99 a1 gaas &1 9= 7 991 et
T 918, 39 a¥8 BT Y 37 UM 3R g&R &1 T4 918, 39 UPR &1 4 ag A | & fu=T ol & 9= aral
P B W & forg FIg off TE T 811 afe frelt e & A 9t FEY SaRexd @1 SrsTd B, °f 39H1 59
UPR $T PTA ¢ B WIEhaT & g THs o | 331 9 Wrdi=ar & e s I farar i Te1 o1, I9&T
g% a1 fF:vide, orcia @1 T, forw foF, wardiqan & &= 9, f¥arwd, gear, Mafaat eiv ewfarat & wiE
3 ST SrTaxg® AU T TP PR 9 39 a7 g9+ Wrdiar & &7 §, TP deu WIS gerdy 3T Ut
39 I UTY FT B 3T g9 HINHT US T6T 81 31 Y warefi=er & U & A Mar srsgar a8t 3R
HIETd B I F A goR FU A Uy foban, I8 Siftres mifara=mett a1 fam ok g9 59 &0 &1 %d 98
BT ? T 39 99y, guR g1l €1 | 9e1s 3@ iR 39%-1 Al @ fwaal sar o Iare § @ift § ok
2 § UoTgd! YR, UU™ 3R STd BT Ied RITT $R 6 &

ST RIS BT UGH -1 T T ¥y $HT S<R Ja1s3:
- R qeg 872

1. gfeeiT



13) ¥ 3R UM F T R Y oA a1a 59 v ATUR F1 ApA F fore qred iR Tedr & 9y SENT
BT T1feT | oI a9 AT 8] 81, 99 a9 HRaay # fAre-ufa 9ga M ardl 1S 9 7 811 o 3
IUTAT & ARt § ®i WY To1ae 7 81 e 19 o yoR T, 33 UeR 4 @ yiaHr &Y e 79§
Sma | enf 3R U, A &1 HiaT g, $47 307 3T & T 1 HaY g, STeHT B Y& B3 3R S SoM
BT A1y 81| 98 [t gz & +f, forsht g safaa ot wardiaar & SR a1 gaeq &1 919= 7 991 3T
T 918, I RE BT YH 3ATT A MR GER $T A 913, S YHR &1 4o a5 a1 & Fi=T 4wl & wr= aret
P B O & forg B off =E T 71 afe et o & A A FEY SaRewd @ 3rsTd g, o 3991 59
UPR $T HTA ¢ ) W1eh=ar & favg awsn s | 331 9 Wrdi=ar & e s I farar i 31 o1, I9aT
98 a1 f1:vide, orcdia @1 T, fora oA, wardi=ar & &= 9, f@arwa, gean, Mafaat oiv yatart & wi=
fear ST Smava® THET T TP UHR A 39 9 gHA WiediHar & & §, U e WY gerd? @1 UTl
AT I T FT B TS gH UIHT US 7T 81 3 Bt w@refi=ar & Humw g1 2 Hamn siga IRt 3R
HTAR DI A F AR GO U J U a1, 3% Siftre rfda=mmedt a1 f3an 3iR R 59 &1 &1 %d 98
g3 8 % 337wy, g9 g1l € | 9e1 3@ iR 39%-9 Al ot feal gurl ois sars # @it § oik
3§ Aelgdl UNTAUH, WUH 3R IeUTd BT sy WTd & ) 2

IUYT TR B UGHR A4 I T UY HT 3% 9d154:
UH- ‘e § - qHE § ?
1. AT

2. A2y
3. HHYRY

4. Sgdilg

Correct Answer :-

. AGIYG

14) 3 3R UM & AW R fFA w1 1 39 Ny AR F) AH7 F T Ared iR ggar F 91y ST
BT I1feT | oI d% THT A8 81T, 99 9% URaay A fA-ufd 9gd oM a1dt 31S 4 A 81| g 31
IUTAT & qRf § His WY Th1ae 7 81 e 19 o yoR 19, 3 ueR 4 B WiaAr &Y e 79 §
Sma | e 3R S, A 1 HiaT g, $47 3R 3TeHT & T BT HaY g, STeHT D) Y B 3R $2 SoM
D1 A1y 81| a5 [t gzn & +f, fonsht g safaa ot wardiaar & 8199 a1 gaaq &1 919= 7 991 3ma®T
T 918, I ARE BT YH 3ATT A MR Gk $T A 913, S YHR &1 4H a5 a1 &f =T ol & wr= qrent
P TH O & forg FIE ff W T 81 afe et o F A I FEY TaRew @ 3rSTd g, o 3991 59
UPR &1 11 ¢ ) Wrhar & favg T | 3 &) wardi=ar & fore s I far =i vet o1, 39T
g8 fe fA:%idE, srcia =1 o1, for foq, waneh=an & & °, fRyemwa, gean, Wafaal 3w ewmiamaf o ==
fear ST Smawge THET 4TI UH UHR A 39 T gHA Wiedhaar & & #, U e WD gerde 3|1 UT|
AT I T FHT B TS g6 UIHT US 2T 31 3 3t w@refiar & Humw g} 3 W siga IRt 3R
HTAR DI A F AR AR U J U a1, 37 $iftre rfda=mmedt a1 f3an SiR g9R 59 &9 &1 %d 98
g3 B fr 59wy, sun a1l €1 | 9eTs 39o! 3R 39%-1 N 3t xfwaal saR! s 3@Te d @it § 3R
T § AoTgd! URTUH, YU 3R ST BT I R B I



ST TR P UG 12 IR T Uy HT IR Ia133:
T "YU 2eg BT FATTS g 3-

1. 3ADPR

2. SWRIad gt

3. ST

4, STHYT

Correct Answer :-

15) ¥ 3R UM & M W fF o1 arad 59 iy AR $) A6 & e I8 iR g1 & Iy IR
BT T1feT | oI d% AT F8l 81, 99 a9 HRaay # fAre-ufa 9ga oM ardl 1S 4 7 811 o 3
IUTAT & ARt § ®i WY To1ae 7 g1 e 19 o yoR T, 3 ueR 4 B yiaAr &Y e 79 §
Sma | enf 3R U, A &1 HiaT g, $47 3% 3MTeHT & T BT HaH g, STeHT B Y& B3 3R S SoM
BT 1Y g1 a5 [t gzn & +f, fonsht g safaa ot wardiaar & 8199 a1 gaaq &1 91y= 7 991 3mu®T
T 918, I e BT YH 3ATT A MR GER BT A 913, S YHR &1 4H a5 A= | & Fi=T 4wl & wr= aret
P B O & forg FIE off = T 71 afe et o F A a1 FEY FaRewd @ 3rSTd g, o 3991 59
UPR $T HTA ¢ B W1eh=ar & favg Iwsn s | 331 9 Wrdh=ar & e s I fasar i 31 o1, I9aT
98 a1 f1:vide, orcdia @1 T, fora oA, wardiqar & &= 9, f@arwd, gean, Mafaal oiv yatart & wi=
fear ST Smava® THET T TP UHR A 39 9 gHA WiehHar & & H, U e WY gerdy @1 UTl
T I T FT B TS gH UITHT US 7T 31 3 Bt w@refi=ar & Humw g1 3 A siga IRt 3R
HTAR DI A F AR O U J U a1, 37 $iftre wrfda=mmedt a1 f3an 3R g9R 59 &1 &1 %d 98
g9 8 % 337 quy, g9 g1l € | 9er 3@ 3R 39%-9 Al &} feaal garl ois sars # @it § ok
3 Aelgdl UNTAUH, WUH 3R IeUTd BT sy WTd &2 ) 2

ITYe TR B USHR AR U T ¥Y BT IR q4133:
TH- d@® YH § {59 a1 B eIl $i argdn 32

1. HIA IJURT B AT

2. HA TAR-TR BT SIS

3. Hhad G B STSar

4. JURYard gt

Correct Answer :-

o JWRIad gt

16) 39 A Fe IH ATH I ARM |

Y SfY, G0 "o g9 U, STt S-S I AT
wY Sfl, g9 99 59 g9 AT, 9 Riaad 9¢ @RIl

Y i, g9 1P g9 a1edl, St wAifa & & 3wt

wY SiY, g9 Hidl g9 4T, S \eE frea germi

uy oft, g0 wrft g9 g, Tt yfds & Yer

ST TR Bl USHR - D ¢ ¥Y BT I7R 133
uH- A Ol s 1 yaigard 98 82



1. A1ferepT
2. QIFRTYHT

3. el
4, Aifdp

Correct Answer :-

17) 39 A Fe I ATH I AR

WY Sft, g9 TS 9 UL, STHT S-S a1 qUT |
Y Sft, 9 991 99 89 9RT, 99 Rraad 9¢ 9ok
wYy oft, g fue 5w T, S wifa &R fo Tt
wY Sff, g0 Tt g9 YT, S JiAfE frea germ
Ty SfY, g T 89 g, Tt e SR Yer|

ST U= F UgHR A2 U 7Y UY T SR Ia133:
WA- ST S-S I FHI § < &1 34 32
1.9

2. St

3. 94

4. d19-

Correct Answer :-

18) 3d HA Fe I ATH I AR |

WY Sff, g9 TS 9 U, STDT S-S a1 qUT |
Y Sft, g9 991 99 89 9RT, 99 Rraad 9 ae R
wYy oft, g fue 5w ardt, S wifa &R fo Tt
wY Y, g0 Tt g9 YT, S WiAfE frea germ
Y Sft, g0 T g g, At wida & Ygr|

ST U= $ UgHR -T2 T 7T UY T ST I13:
- - & wHN 32

1. GG 9a™

2. 3{UTHTT JHY

3. IS ™

4, HUYRY AN

Correct Answer :-

. €8 9UN



19) 39 HA Fe I ATH I AR |

WY Sff, g9 T 9 U, STDT S-S a1 U |
Y Sft, g9 991 99 89 9R1, 99 Rraad 9 9o R
wYy oft, g0 Yue gu ardt, ST witfa &R fo Tt
Y Sf, g At g9 4T, 9 JAfE frerd ggrmi
Y Sft, g Tt 89 g, Tt e SR Yer|

IUYed TEIi &1 Ugh ) YD T UY BT IR 9133
- < TGN Geraw &1 3 7 32

1. 3D TG G

2. 91 3ffer AER S

3. GH &1 IHS dg1

4. 3ffrerg WG BT

Correct Answer :-

. 3D UG BT

20) 3F HA Fe IH AW I Anft

wY oft, g de g9 U, STt S-S T WA
Y SfY, T ° 59 89 AR, 9 Riaad O ek
Y Sft, g9 Srues 3w I, STt wifa ¥ & et
Y Sft, g0 et g9 o, S WA e germ
wY oft, g9 Tt g e, Ut Hidd B e

ST U= F UgHhR A12 U 7T UY T 30X I133:

WRH- U ufeaal # fA & Q $19-3 gobid g 781 82
1. d-aTcit

2. U1

3. URI-ADHRI

4. YTT-GETT

Correct Answer :-

. Ig&®-dIqt

21) 34 A Fe IH A € anft

Y Sft, g9 TS 9 UL, STHT S1-3NT a1 U |
Y Sft, g9 991 99 g9 9R1, 9 Rraad 9 9o R
Y SfY, g9 Sue 3w 9, STt Sifa ¥ &7 et
wY Sft, g0 A<t g9 o, S WA frea germ
vy oft, g wandt g9 ar, T yfd s Yer|

IUYa TR &1 Ugh - Y& T UY BT IR 9d153:



- YR d Uil & YT W4 3t fh-1-f=1 aegeii o suar &d @2
1. B Tt

2. had YRl

3. had Ut

4. JURYad gt

Correct Answer :-

o SWRIad It

22) 3F HH Fe IH AW I ATt

WY Sft, g9 TS 89 UL, ST S-S a1 U |
Y Sft, g9 ¥ 99 89 9RT, 99 Ridad 9¢ 9@k
Y Sft, g0 Srue 3w I, STt sifa ¥ & et
Y Sff, g0 it g9 4T, S WiAfE frea germ
Y Sft, T Tt 89 g, Tt e SR Yer

IUYed TEIi &1 Ugh? ) YD T UY BT IR 9133

U= WRgd Ufeaal # o A fore srawit &1 qui= fear 32
1. 3TH A BIs T8

2. S Yl 1 Har @l STl &

3. 9§ Yad R UfFd &1 0T 96 Sl g

4, SIS Yad BT A I g1 oIl §

Correct Answer :-
. S Yad W HfHT BT 3T I ST g

23) 3F HA Fe IH A I artt

WY <ft, g de g9 U, STt S-S T WA
Y Sft, g9 U9 99 89 9RT, 9N Ridad 9¢ aeRTI
Y Sft, g0 Srue 3w I, STt wifa ¥ e et
Y Sft, g0 et 59 o, S WA frea germ
WY oft, g9 Tt g e, Ut Hidd B e

ST U= $ UgHh 12 U 7T UY T 30 I133:

U=H- TRgd Ufeaal # {59 yeR ot ufea-yra=r #1 sifeafa g8 82
1. TTH A BT el

2. T HTd

3. T UId

4. A1YT WG

Correct Answer :-



24) 39 HA Fe IH A I antt

WY <ft, g de g9 U, STt S-S IR WA
Y Sft, g9 U1 99 g9 9R1, 9 Rrdad 9¢ 9o R
vy oft, g Sfue 5w T, ST wifa R f et
Y Sft, g0 i<t g9 o, S WAfE e germ
Y oft, g9 Tt g g, At widd B Yer|

ST IR P UgHR A1 T 7Y UY BT ST IA134:
- T U5 82

25) 3F $A Fe IH AT I anft

Y Sft, g9 TS 9 U, STHT S1-3T a1 U |

Y Sft, g9 991 99 g9 9RT, 99 Rraad 9 ae R

WY Sft, g9 $Iue gu a1, STt Sifa &R fae 3wt

"Y SfY, T At 39 4T, 9 JAfE frera ggrmi

Y Sft, g0 T g9 g, At uida + Ygri

ST U= B UgHR A1 T 7Y UY T ST I134:

- U Ul § i3 B {5 a1d o1 3¢ a1 it |2
1. Al § YT ST Bt

2. T forg i

3. §IUeh STeM Bl

4, JH-ATH DI

Correct Answer :-

o YHAH D

26) 3d B Fe IH 7 I ATt

WY Sff, g9 TS 9 U, STDT S1-3T a1 U |
Y Sft, g9 U1 99 89 9RT, 99 Rraad 9 9o R
WY Sft, g9 EIue gu aTelt, STt Sifa o fa 3wt
Y Y, g0 Tt g9 YT, S Wi frea germ
Y Sft, g9 T g9 g, At wida + Ygr|



SUYF U D1 UGHT A1 I T YY BT IR Ta1g4:
WA - Yo foraat Hfekt #vm ared 32

1. 579 9 freht ot 7t

2. Gt Bt

3. G Bt

4. THR B

Correct Answer :-

. TH 9 fodll 1 e

27) 34 A Fe IH A I ATt

Y SfY, T deT g9 YT, STt S1T-3T 1 AT |
Y Sft, g9 U1 99 89 9R1, 9N Rrdad 9 9@k
wy Sft, g0 Sue 7w I, St sifa ¥ R et
Y SfY, g A<t g9 4T, 9 WAfE frera ggrmi
Y SfY, g T 89 g, Tt e SR Yer

IUYed TEIi< &1 Ugh ) YD T UY BT IR 9133
- FRrdad 9¢ 9eRT § S 9T PR 22

1. %Y

2. gH&

3. 3UHI
4, 3{UT™H

Correct Answer :-

28) 3d A Fe IH AW I Arft

Y Sft, g9 e 9 UL, STt S-S0 a1 U |
Y Sft, g9 U9 99 89 9RT, 9 Ridad 9¢ 9@RTI
wY oft, T tue gw ardt, ST wifa &R fo= Tt
"y Sft, g At 39 4T, 9 WAfE frerd ggrmi
Y oft, g0 T g9 g, ¥t ufd & Ygran|

ITYed UL &1 Ugh? ) YD ¢ U BT IR 9153
- &P’ ST gargardt 181 82

1. e

2.4

3.

4. 9dg



Correct Answer :-

29) 3F A Fe IH 7Y I Anftl

Y Sft, g9 e 9 UL, STt S-S0 a1 U |
Y Sft, g9 U9 949 89 9RT, 9N Ridad 9¢ 9@ R
wYy oft, g0 o gw ardt, ST witfa & fo= Tt
Y Sff, g0 it g9 4, S WAfE e germ
wY oft, g0 T g9 g, ¥t ufda & Ygran|

ITYed UL &1 Ugh ) YD T U BT IR d153:

- TR TS & HIET 3R Werd Y ot fobeT <itwil & T Y 71 @2
1. d-sTit

2. TSHT-TASH

3. T AT

4. TTC-4mT

Correct Answer :-

30) 39 $Y Fe IH A € Anfh

Y Sft, g9 de-T 9 T, AT S1-31T 91 [T
Y Sf, g9 ¥4 91 89 1T, 99 Riaqad d@¢ aoR1

wY oft, g7 Stue g1 ardl, st siffa & for et

Y Sf, g9 Wil 89 YT, 99 WA fraa germ

wY i, g8 Tt g g, TR ufdt e e

ST UL &) UgHR e IR T Uy &7 IR 9d133:
- WRgd Uferaal & R &1 82

1. 3G

2. HRT

3. gt

4. PR

Correct Answer :-

Topic:- Social Science (SSC)

1)



Who said that, "The President occupies the same position as the King in the British

Constitution”. / f&¥ @e1 uT fp, “fafewr Wy & wrgufa, e & F9H ®IF Te0 Har 31
1. S. Radhakrishnan / UH. X[YTH T

2. Dr. B.R. Ambedkar / 31, d1.3R. 3 EgH

3. Dr. Rajendra Prasad / IS E-Re LI

4. V. V. Giri /d1a% R

Correct Answer :-

« Dr. B.R. Ambedkar / SI. &1.3[R. 3TEASH

2) Who was the ruler of Gujarat when Mahmud attacked Somnath Temple? / STd HgHqg q
THTY TR R g f5an 3T, 39 90T ORI &7 TP DI UT?

1. Bhim Dev / ¥ ¢a

2. Mula Raja / T 1ol
3. Siddha Raja / g I
4. Kumar Pal / HR Ulc]

Correct Answer :-

o Bhim Dev/ ‘J-ﬂtfa_d

3) Which of the following is the mausoleum of Muhammad Adil Shah of the Adil Shahi dynasty?

; Frafafee d 9 snfea ot 31 & gewig Snfea We &1 AHaRT HI4 1 82
1. Gol Gumbaz / TTId T[ESSl

2. Juma Masjid / STTHT ARSI

3. Taj Mahal / ATSTHEd

4. Qutub Minar / $dd TR

Correct Answer :-

« Gol Gumbaz / TTid T[Tl

4) in the Constitution set forth the humanitarian social precepts that aim at social
revolution. / TfaY™ ¥ A Ugdmard! amfere ek & Fuffea farar e sexa
IS wifd g1

1. Right to Equality / JHdT 6T UBR

2. Right to Equal Protection / FHI TR&UT BT SHITHR



3. Right to Education / TRI&T &7 SR

4. Directive Principles of State Policy / 150 & ifd fAdz® da

Correct Answer :-

+ Directive Principles of State Policy / I & =i FAdx® aa

5) The test that predicts the performance of individual in a particular field is: / Q’\‘lT 'CI'\&&I'UT 1|

et foiw & # =afed & we=i &1 qatga™ o &:
1. Diagnostic test / Ferfe ateror

2. Prognostic test /Tﬁﬂﬁlﬂ TRI&0r

3. Achievement test / SUTIs URI&0T

4. Teacher made test/ TR1& gRT fobaT 71T TRI&fur

Correct Answer :-

« Prognostic test /@Eﬂﬂ GRI&for

6) Which among the following correctly represents the Honduran Emerald? / frafeafea H

A I A1 FIGR THRTES &) Wt aje & guifan @2

1. A beach in Honduras / m R JHg dc

2. An endangered bird of Honduras / Eﬁw pI Uch Uiy geft
3. An ore found in Honduras / Bﬁw o U S 9Tl Uoh 31a%h

4. An island in the Atlantic Ocean / 3fcdifc® ASITR H U& g

Correct Answer :-

« An endangered bird of Honduras / Eﬁw T Udh JtdUg geft

7) Pohang Iron and Steel Company is from which among the following countries? /

frafifaa & 3 Wi smeRe te Wha sul fFa 3w a @
1. South Korea / GI&TUT IRl

2. North Korea / 3R HIRAT

3. China / 91

4. Japan / SO

Correct Answer :-

« South Korea / GI&f0T AT



8) Hubbert peak theory is related to which of the following? / BE?.F Rrar Rigia

Frafafea # & foaa w@eafta 32
1. Currency Trade / HxI UIUIR

2. Petroleum / ﬁ'@ﬁﬂﬂ

3. Metabolism / ddMUdY

4. Nuclear Energy / URHIU] Sl

Correct Answer :-

« Petroleum / ﬂ‘cjﬁuﬂ

9) Who is the administrative head of Prime Minister’s Office? / UUTHA] drafag &

URITIP UHE B 87

1. Prime Minister / eTTHAT

2. Principal Secretary / YT gfd

3. Cabinet / AfHsd

4, Cabinet Secretary / HfAred gfua

Correct Answer :-

« Principal Secretary / T gfd

10) A type of evaluation which is used to improve and monitor the progress of students and

teachers is: / TSP UHR &1 Yo &, 9l D 3R Rrgra! 3t wrfa § gur ik ARt
& fore fpar Srar 81

1. Formative evaluation / IdITHD J—,j\c'qior?d

2. Norm-referenced evaluation / AT TefHd Hedidh
3. Summative evaluation / ATTE® Hedid

4. Criterion-referenced evaluation / A8 T&d Hlih

Correct Answer :-

« Formative evaluation / T HegihA

11) Mind is a ‘Tabula Rasa’. Who said this? / 1 T® ‘dqdT I’ (Tabula Rasa’)% e oo
Pgl?

1. Immanuel Kant / QHTJUC] Hic



2. Michel Foucault / fA=Id W
3. Friedrich Nietzsche / e R 1]

4. John Locke /\—,|V'|T-[ EVW

Correct Answer :-

« John Locke /\_Slv'I:f ?ﬁ?

12) Before Ashoka became Mauryan king, which province did he serve as governor? /

M HRE ST T | Ugd f6H Wid & Ie9uTd & U B d3d A2
1. Taxila / &I

2. Vaisal / A8

3. Pataliputra / GTCATA

4. Ujjain / IS0

Correct Answer :-

o Taxila/ H&@Wﬂ

13) The First Factory Act restricting the working hours of women and children was adopted

during whose time? /#I%meﬁ&ﬁ?aiﬁﬁmawz’raﬁwﬁaﬁamﬁwm
SR AfUFaH fFras T9a & =T T 412

1. Lord Ripon / are o=

2. Lord Lytton / dre fereq

3. Lord Bentinck / A8 Sfc®

4. Lord Cornwallis / @18 ®Haled

Correct Answer :-

« Lord Ripon / dre o=

14) The term Isostasy describes: / H-HJd RMeg g ot e HRar g:
1. The state of disruption / faues = fRufa

2. The state of balance / FJA o1 fRufa

3. The state of uplift / STU RIS

4. The state of subduction / TEREe BT RRUfd

Correct Answer :-



« The state of balance / AT CARTI G|

15) The song ‘Amar Sonar Bangla’ written during the Swadeshi Movement of India inspired
the liberation struggle of Bangladesh and was adopted as the National Anthem of

Bangladesh. Who wrote this song? / YRT & Wt sfiglad %aﬁﬂ'—rﬁ'@wﬂh '3HY
AR ST 3 SRAT & TS & Hay 31 Rd fFar ok 38 iveney & I = F
9 H YT 4T 9% M feee foran g2

1. Michael Madusudan Dutt / HIgP A HYJa ol
2. Mukund Das / §$¢& I

3. Bankim Chandra / §fbH 9§

4, Rabindra Nath Tagore / ey TR

Correct Answer :-

« Rabindra Nath Tagore / fdgry 2R

16) The coral reefs are the marine counterparts of which of the following? / WdT¢el Ad

Sfori, Frrafefea & 9 feae! st ufauer 82
1. Savannahs / SWIGICS LT I A (JaT)

2. Scrubland / @q@ (Wﬁ?)

3. Temperate forests / ESENIRINUICE]

4. Tropical rainforests / UG edg aul-a

Correct Answer :-

+ Tropical rainforests / UG ey aul-a

17) The Head Office of Export Promotion Council for Handicrafts (EPCH) is located at? /

garkiey frafa Had ufvug @) o1 genay ggi fRd 32
1. Delhi / faeel

2. Jaipur / SRIGR

3. Varanasi / IRTURT

4. Kolkata / hIcibTdl

Correct Answer :-

« Delhi / fact



18) Which one of the following aroused a wave of popular indignation that led to the

massacre by the British at Jallianwala Bagh? / FFraferfad & 9 fog v = die g smemiwr
B AER UeT B &I FoIP SR 3RS gRT SAferaiarer a7 # AREER g3

1. Government of India Act 1919 / HRd IRBR HAFITH 1919

2. The Rowlatt Act / & i€ TGE (Tl HII)
3. The Arms Act / 3TgY &Y
4. The Vernacular Press Act / IaIeR Uy Ta

Correct Answer :-

« The Rowlatt Act / G e UaC (PTT PIT)

19) Which one of the following is not a method used for the assessment of personality? /

Al & P AT & g ITHT $t 7 arelt fafdy Frafafea o @ #19 d@ a8 @2
1. Project method / TSI fafey

2. Projective method / T&Idt fafdr

3. Objective method / TEIHS fafey

4. Subjective method / 3TAMY fafd

Correct Answer :-

 Project method / TS fafd

20) Which is not a third Century BCE stupa? / 131 RIdTsd! 39T Jd &1 WU ®I a1 Tl
37

1. Dhamek Stupa / UTHdH Ty

2. Kesaria Stupa / CasIcel U

3. Amaravati Stupa / R U
4. Sanchi Stupa / il ¥4

Correct Answer :-

+ Dhamek Stupa / gy U

21) Which is not a structure in the premises of Qutub Minar? / $dd R & tReR 4 o
Y AR RN 82
1. Quwaat ul Islam mosque / Podd I ST ARSIG



2. Alai Darwaza / 31?11‘5‘ FREISI

3. Aibak’s Magbara / UG &1 HHER]

4. Iron Pillar / F‘ﬁ% BT GHT

Correct Answer :-

. Aibak’s Magbara / U5 BT HHER]

22) Which is the first Biosphere reserve in India? / HRd H UgHT arah R feord (ﬂ?f&l?f

SqHg) P AT R?

1. Sunderbans Biosphere reserve / J&a IARDIR Rord

2. Nilgiri Biosphere Reserve / Hrafd sfere ford

3. Nanda Devi Biosphere Reserve / E| éﬁ sTfrER od

4. Gulf of Mannar Biosphere Reserve / HAIX &1 @13)[ SRR ﬁﬁé

Correct Answer :-

« Nilgiri Biosphere Reserve / A sferaR fod

23) Which Gupta king contested the Huna according to Bhitari Pillar Inscription? / ferst

WY Reardw & AR fw T e 7 g1 & fore IJad far 4
1. Samudragupta / JH& [t

2. Chandragupta I / I&I 11

3. Chandragupta I/ TG I

4. Skandagupta / Th I

Correct Answer :-

. Skandagupta / ¥h I

24) Which among the following was the last European country to rule Goa? /

Frafafeaa o 3 Mar = e $-A 9rar sifaw Rida 3= Hi4 a1 9
1. Netherlands / TeRdlg

2. England / 37018

3. Portugal / Gl

4. France | I



Correct Answer :-

« Portugal / ﬂ?ﬁTI?T

25) Which among the following is known as “Coffee Port” of the world? / fafafead

53 fay & ot N & =9 o =71 o1 82
1. Santiago / Tfe3mm

2. Santos / ¥

3. Rio de Janeiro / A1 1 S-R1

4. Buenos Aires / 9 3O

Correct Answer :-

« Santos / Jdorg

26) Which metal was unknown to Harappans? aE kil YTd I oW SMITd 2
1. Bronze / HT

2. Silver / Xsld

3. Copper / GIEI

4. Iron / Fﬁ_s'

Correct Answer :-

. Iron/?ﬁ_ﬁ'

27) Which Constitutional Amendment Act removed Right to Property from the list of
Fundamental Rights? / fra Tufae wene= srffifaaw 3 Jufy & it &) Wifers
AfUSRY D it & ger feamn

1. 42" /429

2. 415t / 41d

3. 46 / 46d
4. 44 / 449

Correct Answer :-

. 44th /449



To promote equity in agriculture the government had introduced system where the maximum
size of land which could be owned by an individual is fixed. / vﬁr H freqerar &1 derdl [AF ﬁl‘l'{
WHR A worel! 3= @t o, forad ve safed gr1 w@iiigd YfY &1 siftean smer Faa 21

1. Land ceiling / Yf¥1 Tifei (i Tifer)
2. Land reform / H{H YR

3. Land Parcel / 4ff URf@

4. Land fixation / Yf¥ FeRor

Correct Answer :-

o Land ceiling / H&Wﬂﬁ*ﬂ (a? e

29) Second five year plan was popularly known as . / Tedia vaadfy gien & diefia & u
| & ATH | ST 7T AT

1. Gandhian Model / Tieftard} Area
2. Nehruvian Model / Ag%del Alsd
3. Mahalanobis Model / u@mﬁmﬁ@a

4, Harrod-Domar Model / %Q-IS—@TITEV'ISFT

Correct Answer :-
e Mahalanobis Model / mﬁﬂﬂy@ﬂ

30) Match the educationists with their contribution. / ﬁT&ﬂﬁ??f BT3P mTI'c."F-T ﬁ = aﬁ'l

Educationists Contribution
a. Lev Vygotsky/ Toig i. Project Method / UIaige
GIETIIRSE] fafer yaRaraar fafEy
b. BF. Skimmer/ T ii. Constructivist Leamning /
U AT CATaTar 3
c. Kilpatrick / forerdfes iii. Jurisprudential Inquiry /

Tateremes gasEr s

d. Donald Oliver & James P. Shaver | jv. Programmed Leaming /
/ses e S o | sRimres sfEm
Ay

1. a— (iv); b — (iii); ¢ — (ii); d — (1)
2. a— (i); b— (ii); ¢ — (iii); d — (iv)

3. a— (iii); b — (ii); ¢ — (iv); d - (i)



4. a—(ii); b—(iv); ¢ — (1); d — (iii)
Correct Answer :-
e a—(ii); b—(iv); c — (1); d — (iii)

31) Which is the process of assessing the progress of learners by identifying areas of difficulties
through diagnoses and remedial actions as part of the instructional process? / = ufpar &
TR & wu A M iR STIRTHS STl & ATHH § HiSATSAl & &3] B Uga S Ruanfial ot
W BT STHe PR Y Ufha1 /132

1. Summative Evaluation / JNTT&d i
2. Final Examination / 3{fcd U=t

3. Integrated Evaluation / Tobidrd Gedich
4. Formative Evaluation / FHfoTaI® Jedie

Correct Answer :-
« Formative Evaluation / OIS Jeaia

32) Which is the forest conservation movement in India where local people prevented the cutting

down of trees? /MR § I HT 9 WEIUT TSI & &l TITHG AT TSI H HIed I Jpd 82
1. Bhoodan movement / YqI+ g
2. Cooperative movement / TEHIRAT Sfigia

3. Consolidation of land / T—L&I BT THIDHR
4. Chipko movement AEECARIFE]

Correct Answer :-

» Chipko movement / fge! sfigie

33) Which of the following is the correct psychological way of proceeding in Social Science teaching?

/ FFrafafaa o @« arnfore fage Rigor & om 9ga o1 3R aaldg e oo 82
1. Difficult to Simple / B I T

2. Concrete to Abstract / Jd & 3

3. Unknown to Known / 3731 ¥ 10

4. General to Particular / IHT=I ¥ fafy

Correct Answer :-

» Concrete to Abstract / ﬂﬁ@f G'I'Ji?f



34) Which among the following is an example for non-institutional credits? / Fafafeada s
TR-HERINTG 91 & Y TP SE1ev0T 32

1. Regional rural banks / &= areior S
2. Nationalised banks / TI'@?ZIW CLY

3. Moneylenders / 9IghRR

4. Cooperative banks / GgHRI 4%

Correct Answer :-
» Moneylenders / HIgh R

35) Which among the following is a non-conventional source of energy? / fFrafafaa & @ 19 a1 et
1 Y& IR-IYIRTTd 94 82

1. Natural gas / mﬁﬂ
2. Petroleum / a@ﬁﬂﬂ
3. Coal and lignite / H1gaT 3R ferge

4. Wind energy / Ud- vl

Correct Answer :-
» Wind energy / Ud Bl

36) Projective techniques are used for the assessment of one’s J Tt Wa?

_ »Yeuicd ¥ e diefeea ae-ie] 1 SuanT fhar Srar 21
1. Development / faerg
2. Personality / Hfaaa

3. Growth / q@
4. Intelligence / §@

Correct Answer :-

 Personality / Hfaaa

37) is a policy which aimed at replacing or substituting imports with domestic production.

/__ wﬁﬁ%ﬁwsﬁmWﬁa&qmﬁuﬁwﬁammm%

1. Balance of trade / IR Ao

2. Balance of payment / YTTdT dJa
3. Export reduction / frafa ATBHRT

4. Import substitution / 31T HfcRUTI



Correct Answer :-

« Import substitution / 3T YfaRIT

38) observed that ‘Social Sciences is perhaps the singular curricular area which can prove
to be the most effective tool for providing education in the context of all the core components
envisaged by National Policy on Education.’ / = Ut & ammTore fagm, 3mae twd utey &=
& it e R wgia Afa g1 wRe i 9 g geat & dev & Rian e o3 o1 998 gurd Suau
Hifed gl apar g 1"

1. National Curriculum For Elementary And Secondary Education (1988) / UTuftdh 3R Areafiye Rren & forg
ST UTGAHH (1988)

2. National Curriculum Framework (2005) / J$1d UT=rdf &t U (2005)
3. Secondary Education Commission (1952-1953) / AT&d8es fR1&f SART (1952-1953)

4. A Framework of NCERT (1975) / TTIIZ3RE} &1 T Ul (1975)

Correct Answer :-

« National Curriculum For Elementary And Secondary Education (1988) / UTdfHdh 3R Areafiye Rren & forg
RS UTGAHH (1988)

39) Who said that, “The United Nations was not created to take humanity to heaven, but to save it
from hell.”? / T Fg1 o, "<iga g Aaar 31 W@l A @ 91 & e 767 a9 man ot 9w 39 e
T g9 & e amar T 9ni?

1. Dag Hammarskjold / ST RIS
2. Antonio Guterres / TSI eX™
3. Boutros Boutros-Ghali / S SA-8TaH

4. Ban Ki—Moon/ WM @I -Td

Correct Answer :-

o Dag Hammarskjold / ST g

40) Who was the first Indian to be the Governor General of India? / W%m (ﬂﬂﬁ?
T Rd) §99 918 Ugd HIRAI S &2

1. C. Rajagopalachari / 9. JSFUTETR]
2. Fakhruddin Ali Ahmed / TESE A 3t 38HG

3. Lal Bahadur Shastri / ¢T¢] dgTgR T
4. V.V. Giri / a1.dt. it

Correct Answer :-



 C. Rajagopalachari/lﬂ. NSHIFINIEIN

41) Who upheld the view that religion can never be separated from politics? / feam X Hicau kol
TR @1 i 43 ot Ireriifa & St sret 81 fvan s wean?

1. Dayanand Saraswati / 0T+ SR¥Id
2. Raja Ram Mohan Roy / ST I/ HigH I
3. Gopal Krishna Gokhlae / TUTe W1 TREal

4. Mahatma Gandhi / HeTHT e}

Correct Answer :-
« Mahatma Gandhi / HgTHT Tieht

42) The process of transferring the income from asset owning people to non-asset owning people is
./ IRURT & AT ST BT RURKURT & FITHE I TR | ST RIFTRT S 31 Afhar-
gl

1. Vicious cycle effect / g&dsh YHId
2. Trickle-down effect / TU Rigid ([¢h -S89 UHTd)
3. Balanced growth strategy / ﬂ?ﬂ%‘lﬁ Q’@ oI

4. Lorenz curve / ARSI dh

Correct Answer :-

+ Trickle-down effect / €Udh Rigd (fChd-S13 Uuma)

43) The Members of Parliament are free to raise any matter that they think is important during

./ P IR FUC P e fHdt Wt 3T aHa o S5 & e Taaa g1d @
oY 38 @raT 8 f wewayuf 31

1. Question Hour / YA T

2. Adjournment Motion / I YIdTd
3. Half -an-hour discussion / 3T o g &t T

4. Zero Hour / J[PTA
Correct Answer :-

+ Zero Hour / ][ PTcT

44) Which among the following rivers is most described in the Rig Veda? fFafafeada

o1 9 7 B¢ d WY aiftr affa g2



1. Ganga /TR

2. Sindhu / Y

3. Saraswati / TRl
4. Chenab / oI

Correct Answer :-

« Sindhu /ﬁ[‘{{

45) Who among the following is the author of “Ain-i-Akbari”? FFafafRead A “3HTg-U-

B BT RGP P 8?2
1. Ishwar Das / S%% &9
2. Abul Fazl / ST thoid]

3. Mulla Daud / Hell al$ha
4, Akbar / bR

Correct Answer :-

« Abul Fazl / g Wholcl

46) is a system where by the farmers pool their milk produced according to different grading
and it is processed and marketed to urban centres through cooperatives. / Wﬁ?ﬁm%ﬂﬂf
fPaT arerT-3renT A0Rt & STHR 3T I gY BT HITU HYa § 3R 38 Feor) aftfaat & areaw &

1Y Td et Fl ® fassa frar s 81

1. Operation Mantra / 3iTa¥<H H3
2. Operation Torrent / 3{TORYH €T
3. Operation Serve / 3{TRT T4

4. Operation Flood / SHTRTA TS

Correct Answer :-
« Operation Flood / SHTIRTA TS

47) Which of the following banks installed the first ATM in India? / faffRad 4 fPadea yrRa o
gl geieH witfua fasar?

1. ICICI / S Htemsaam

2. HDFC / T SIumhy!
3. Yes Bank/aﬂ%



4. HSBC / Q& E]

Correct Answer :-

« HSBC / TIugeRt

48) The Road Back to Nature is a book discussing the global ecology and destructive farm practices. Who

is the author of this book? / ﬁ?@ﬁg’#ﬂﬁ%mﬁ?ﬁ&ﬁ?m?ﬁmﬁﬁw
Tl BX 3G TP [Xa® ¢ | 5 T&IP &b Aad DI 82

1. Bill Mollison / fo@ Hifera
2. Albert Howard / Glﬁ?f E'Iaé
3. Eliot Colman / Qﬁﬂ? CANEE

4. Masanobu Fukuoka / T B3I

Correct Answer :-

« Masanobu Fukuoka / TETg B3I

49) The learning strategy which is associated with 5 E's (Engage, Explore, Explain,

Elaborate and Evaluate) model is: / SfRATH Iufa <t 5 § & 1Y g@ﬁ §§ % (HY, &Iﬁ'q'UT,
e, feR ok geaie ) Alsd @

1. Constructivism / IFATAIG
2. Social inquiry model / G PELNIES ared
3. Branching programming / QA PIIE

4. Team teaching / €Y fR7&f0r

Correct Answer :-

« Constructivism / GGG

50) The process of collecting, analyzing, recording and interpreting information about

student learning is known as: /W% m%ﬁwﬁaﬁmmaﬂﬁ, ICEGILG]
o, Rpld T 3R fadws w3 3t ufsban &t e w1 wmar @:

1. Role play / Id &
2. Assessment / 3{Th
3. Testing / TRIeor

4. Dramatization / TP ¥UIdY

Correct Answer :-



« Assessment / Th I+

51) To choose appropriate teaching strategy, the teacher considers which of

the following factors? / Iugad fR1&vr I go4 & fore, Riere fFafafea a9
g eRe R AR Svar 22

1. Sports/cultural days in the school / ¥h ¢l | @?TWW fead
2. Visits by inspecting authorities / fRteror SfUmTRRAl gRT wHuT
3. Abilities of the learners / FRTeMRAT o1 givorard

4. Year Plan given by the school / ICRINE R AR EEL RIS

Correct Answer :-

« Abilities of the learners / fQT&‘ITﬁj'q}f AR

52) The term “brainstorming” was first coined by: / Xsg "faR-HyT" 99 ugd
S0 GIRT UKgd fovar Tar o1 :

1. Osborn / &

2. Johnson / S8

3. Caldwell Cook / HTcsdd Hh
4. Bruner / 1R

Correct Answer :-

« Osborn / 3gaT

53) Idealism strongly promotes: / 3TRIAIG Tedl f= &I 9¢raT ean 8

1. Source of knowledge is nature / Ui 3 BT Ad gl
2. Senses are the gateways of knowledge/ HdGTU I BT gR gl

3. Axiological belief in absolute values / TqUl Tl & STRUTATET faym™
4. There are many truths as there are many paths / &% 9d g FIfdb &g I &

Correct Answer :-

« Axiological belief in absolute values / H{Uf H?\‘ff o STRyrarct fayr

54) To attend the individual differences in the class, what should the teacher of Social

Science do?/$&nﬁwmsiaﬁaﬁm§ﬁ%m,wﬁmﬁﬂﬁmﬁw: -



1. Uses variety of learning experiences / [CIEERIRUE] &HW BT SUINT DHRA1 5|

2. Gives different types of assignments / ICIEEREIRE WT_&"'TJEFC' & g ) gl %I

3. Conducts tests end of the week / IS & 3id | qﬁ&‘FUT SMNforg Hdl %|

4. Makes sure all the students are present everyday / dg ﬁﬁ@ﬂ hdl % g sa &R ST IUfRyd
G

Correct Answer :-

« Uses variety of learning experiences s faf¥ra sifermy 317:1'1-@ BT TGN BT %I

55) The teacher shows photo copies of the letters written by Mahatma Gandhi while
teaching a lesson on the struggle for Independence to: / Rrere adzan Iy 1R U418 Wl?f
U Wt ieh gRT ford 78 v 91 wiel wifual safer fewmar 8:

1. Supplement the concepts with facts / q &b 1Y SATUROMS B S S + o fa
2. Adopt deductive approach / [GHUEIEECY EPHIUN T & forg |
3. Use problem solving procedures / THIT HHTYUTH Ufhara &1 TN & & fem

4. Execute a project / RIS (En@f?ﬁ) ®! fAwTfid R & forg

Correct Answer :-

« Supplement the concepts with facts / T & 1Y YRS Bl S 1% fa

56) Who set up the Indian Independence League? / HRAT Wga=dT o foaa RITfud @17
1. Dadabhai Naoroji /E("IHT“-ﬂ'sc:ﬁﬁGﬁ

2. Rashbehari Bose /Wﬁ%ﬁraﬁﬂ

3. B.R.Ambedkar / &1.3R. 3{a8H

4.Mahatma Gandhi / H&THT TMieh

Correct Answer :-

« Rashbehari Bose / Wﬁlﬂﬁ a9

57) CANCELLED

Which of the following is metamorphic rock? / frafefea o 9 sraiaia el Capk:| %?
1. Marble / HTTHRAR

2. Sandstone / I3 YRR

3. Mica / Y



4. Schist / R

Correct Answer :-

. Schist/ R

58) CANCELLED

Ajanta Paintings represent the scenes from: / 3eidT & o v & =gl &t Eﬂﬁ %
1. Jatakas / SIebIdl

2. Mahabharata / HeTHIRd

3. Ramayana / XTHIJUT

4. Upanisads / 3UMYG

Correct Answer :-

« Jatakas / SIhIdI

59) EBP stands for: / SaIUl @1 fasgd ¥ 3:
1. Evidence Based Practice / Eff%l@;?\q ste Ufgey

2. Evidence Based Problem / Qﬁé’:\"—l IS UisiH
3. Education Based Practice / Q§$Q 7 9%s Ufdeq
4, Education Based Problem / anSQH IS UiseiH

Correct Answer :-

« Evidence Based Practice / Qﬁ@TH ste Ofgey

60) Density of population is computed by which of the following method. / STTIST ¥ g9

1 oM e | 9 75w faf¥r g1 &Y et g1
1. Female population divided by area / SFhd gRI fauTiord Afger SHeiRe
2. Male population divided by area / &ATd gRT [AHTIOId TS SIHRIREAT

3. Area divided by total population / ST gRT fauTford eawd
4. Total Population divided by area / & d GRT fAHTRTd Pt STHIRSAT

Correct Answer :-

. Total Population divided by area / &FHd GRT AU Pt STHIRSAT






